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BRARSE X FEEEEICEHT HINIETEE

O

[IRA R3] (BfGL:FM)
IRAGHE
X & &t W=
284 | 294 [F | 30F[E | 31 E | 325 E
1. IEEEEH 348,385 348,723 |348,385 |348,385 |349,150 | 1,743,028 |[IRAEE MREDLEY
IRAEE(A) 348,385 348,723 348,385 |348,385 |349,150 [ 1,743,028
(X H R#E]
XHETE
X & &t & &
284 | 294 [E | 30F[E | 31 E | 325 E
1. BEE 60,869 | 60,869 | 60,869 | 60,869 | 61,296 | 304,772 |XHARENDELY
BhERBSE L S— 48,413 | 48413 | 48413 | 48,413 | 48,840 | 242,492
HEBALLE— 12,456 | 12,456 | 12,456 | 12,456 | 12,456 | 62,280
2. N\t B 100,007 100,007 {100,007 {100,007 {100,007 | 500,035 |ZHARE@QDELY
3. MESRMIHFEIRICEATHRE (139,668 140,006 139,668 (139,668 [140,006 | 699,016 |ZHARE@QDELY
4. TOMEEEE (BT HIRE| 47,841 | 47,841 | 47,841 | 47,841 | 47,841 | 239,205 |ZHAREQDELY
5 —EEESE XHRREQDERY
N EH(BRA) 348,385 348,723 348,385 |348,385 |349,150 [ 1,743,028
HEBRRED 25,806 | 25,831 | 25,806 | 25,806 | 25862 | 129,111
& F(B) 348,385 348,723 348,385 |348,385 |349,150 [ 1,743,028
(R % BA#H]
IRA&E(A) 348,385 348,723 348,385 |348,385 |349,150 | 1,743,028
X HAEE(B) 348,385 (348,723 348,385 |348,385 |349,150 | 1,743,028
%= (A)—(B)
EEEEM 348,385 (348,723 |348,385 (348,385 (349,150 | 1,743,028




